M1 2ETIEF ¥ Lo Ih y FRARAKKRES

= THERERRR S KK (50m) 1/2
HWIH : 202448 H11H (H)
No.40 ;E& 200m BAA FL—1) L— B A LL—RXRE RELEk 2:21.87
&£ 40-59x% >
F—L# Keg B AR
1 fp&RFSS 1/ 5 2:42.47
41.49 1:23.56 2:03.22
1 B B 1 (0.74) 41. 49
2 e 1 2 42.07
3 ¥rm EE Ml 39. 66
4 NROBE 3 39. 25
No.40 ;E& 200m A A FL—UL— B4 LL—XRE
< 60-79%% >
F—L4 K& B
OPN BIE K 1/ 4 2:15.46
34.60 1:12.21 1:44.55
1 fal 2 x2  (0.79 34. 60
2 AR BER K2 37.61
3 REFILLAK X3 32.34
4 Ak KA x2 30. 91
No.40 B4 200m A A KL—1L— %4 LL—RRE 2B 21873
£ 80-119m% >
F—L% IK % ﬁ FEﬁ
1 YaryFx~ 2/ 4 1:57.13
N\
=T
28. 31 59.15 1:29.19
1 B ) ( 0.62) 28. 31
2 whH BT K4 30. 84
3 & Eeas 30. 04
4 #HE BMW 27.94
2 valrsF¥~ 2/ 5 1:57.84
N\ 37
R
28.18 58.98 1:29.35
1 JEER 7 ( 0.59) 28.18
2 WL FEM x4 30. 80
3 EH &k 30. 37
4 EfE R X1 28. 49
3 varyFy~ 2/ 6 2:02.02
P
=T
27.99 58.80 1:35.00
1 B HEKR ( 0.62) 27.99
2 JIE X 30. 81
3 i 36. 20
4 1@ e 27. 02
4 OBeats 2/ 3 2:05.89
N\
=T
30.70 1:05.15 1:38.25
1 B —i (0.7 30. 70
2 g 34. 45
3 ITiE EK 33. 10
4 g i) 27. 64
5 BHEK 2/ 2 2:22.96
35.71 1:07.06 1:43.51
1 rg i X4 (0.58) 35. 71
2 EH 1T K4 31.35
3 Mk &— 36. 45
4 KK R K4 39. 45
HAO AWK 8HILH 15:24



M1 2ETIEF ¥ Lo Ih y FRARAKKRES
S TIERERR A KK (50m)

HWIH : 202448 H11H (H)

2/2

No.40 ;E& 200m BAA FL—1) L— B A LL—RXRE RELHE 21943
£ 120-159m% >
F—L# KigE B RS
1 F—I/NK 2/ 7 2:17.78
=
34.11 1:07.42 1:43.62
1 /bk EEE ( 0.68) 34. 11
2 TR R 33.31
3 /AR 36. 20
4 FEH EK 34. 16

No.40 ;E& 200m A A FL—UJL— BALL—RRE
< 160-199%% >

=EE 2:29.53

1 HEKE 1/ 6 2:26.09
P
=T

35.06 1:16.95 1:54.64
1 FE ( 0.65) 35. 06
2 REfkE 41. 89
3 EM JRE#E 37. 69
4 W &L 31.45
2 XS RhARHF— 1/ 2 2:45.99
36.39 1:15.87 2:06. 15
1 ER ( 0.76) 36. 39
2 W T 39. 48
3 HEmT 50. 28
4 B RS 39. 84
No.40 ;E& 200m BAA FL—UL— BALL—RXRE £ 2:26.44
& 200-239z% >
F—L4A 7K & B
1 ~v~Af~A 1/ 3 2:29.05
32.36 1:14.20
1 B (0.72) 32.36
2 /A OREEE 41.84
3 TEERRA T
4 kR v
2 —fL= 1/ 7 2:40.45
37.99 1:23.81 2:02.96
N ( 0.74) 37.99
2 AR T 45. 82
3 Kk HM 39. 15
4 B fET 37. 49

Hi ) B IR

S8HI11H 15:24



